BAL: BEHEREMENSAN—VT AT =N

%

20224ETH1H ~2023%6 H30H £ T

(BA7 )
& B & #
I RBEILE
1. ZMEE
ExBsERat 70,000
BB AT 359,000
429,000
2. ZTWFFE
=& 1,218,000
GRS AR 0
i NG 2 A 0
1,218,000
3. ZHRBhRRESE
= BRI A 0
% T [ A Bh 4 0
0
4, EHEINRK
BRI AR 0
ITBUZt RIS 0
0
5. FDHhINE
= HURLE 0
HEU A 0
8 N4 0
AN G ST HE 0
HiI5Z Bk 4 0
D& 0
0
RE IR E 1,647,000
o REEHA
1. HER
() N2
FRI=Ecil| 0
WmETFY 0
15 TEFE R 2 0
NE 0
(2) 2D E
SRR 0
5 1,200,000
A 0
= ¢ 0
L EN 50,000
AR 0
VHEE L 0
HA TR 4,396
AR N 93,012
SRR 0
ikt 0
priniry 8,000
8N4 i 0
RINEHEE 0
FFF S HE R 0
FDOMAREF 1,355,408
FEEH 1,355,408




2. BHE

(GOPN S ¢
% B
BEFY
HEEEAE
NG &

(2) FDthixE
EEE
BEE
A2
IS
TR EN
3¢
HEES 2
SCHATRHCR
A Ui
SRR
D
MR
N4 IR
RN HREHE
RFRr BUSMERE 2
ZFOMAREFH

EEEH

REERH

24 HA 1F Ik U P B B

B EAARAE bk RE 4

TR IR bk B PE S

99,970

99,970

1,455,378

191,622
785,208

976,830




